Subtraction Across Zeros

You can use place-value charts to subtract across zeros.

Estimate. Then find the difference:

5,004
- 1,286

Estimate: 5,004 — 5,000
-1,286 — -1,300
3,700

STEP | In the ones column, 6 > Y. Begin regrouping with the thousands.
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STEP 3 Regroup the tens

STEP Y Subtract
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Since the estimated dif ference, 3,700, is close to the actual answer, 3,718, the
answer is reasonable.

Find the difference. 1790-1218=__

8 10

1,790 You need to regroup to subtract the

21,218 ones

572
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Examples:

A- Estimate. Then find each difference.
))

3) H)

5,004 5,000 8,000
- 1,286 - 1,000 - 2480
3,718 4,000 5,920

B-Find the difference. Tell which method you used.
S) 6)
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C- Problem Solving
9) Kim had 435 cards. He gave away I8 cards. How many cards does he have lef1?

Y35 - 118 =317 cards

I0) Greta needs 700 tickets for a poster. She has 325 tickets. How many more tickets
does Greta need?

700-325 =375 more tickets

| My Redl Life |
There are 359 fish in a large fish tank at a zoo. 200 died. How many are left?

359 - 200 = 19 fish
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